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BT £ A0 1R B 18R =i BE | R | R
B ET 362 1 167 1 195 0 163 0
FLHT 193 0 92 0 101 0 86 0
ESHT 115 0 47 0 68 0 50 —1
KEH 31 0 14 0 17 0 12 0
NE) 24 0 8 0 16 0 7 0
AR 167 0 74 0 93 0 68 1
R fT 38 -1 8 0 30 —1 0 —1
75 3 LLIET 363 -2 196 0 167 -2 221 0
EHT 8 1 6 1 2 0 6 1
1@ AT 217 -1 89 0 128 —1 81 0
EEH 163 0 72 —1 91 1 84 —1
JEHT 195 -2 101 -1 94 -1 114 -2
ZSHT 209 -1 100 0 109 —1 96 —1
pi=1:0 384 1 212 3 172 -2 217 3
il 60 0 27 0 33 0 38 0
18 ga T 85 —1 33 -1 52 0 40 —1
ESHET 117 —4 60 -5 57 1 68 -4
—&T 0 0 0 0 0 0 0 0
RET 100 1 48 0 52 1 45 0
£&FT 125 0 59 0 66 0 55 0
INET 70 0 36 0 34 0 31 0
NET 187 2 76 0 111 2 85 1
+&FT 219 -2 85 —1 134 —1 112 —1
35k Fe T 368 -3 160 —1 208 -2 165 —1
5iEET 3,017 -3 1,439 -2 1578 —1 1,287 -5
AT 3,664 25 1,762 10 1,902 15 1,532 12
ey 1,656 4 809 0 847 4 627 0
;2 ET 1,651 -8 864] -10 787 2 849 -5
FrHET 644 -6 298 -3 346 -3 230 -4
H A1 ET 3,651 12 1,791 9 1,860 3 1,678 5
Ly Jt BT 3,032 -2 1,477 -1 1,555 -1 1,289 0
FE[R BT 2,673 7 1,323 3 1,350 4 985 —1
JIFaRTdE 4,625 5 2,269 -1 2,356 6 1,970 9
JIFa BT R 2,164 20 1,041 12 1,123 8 834 11
ALK HET 9,173 -25 4,456 —-12 4717 -13 3,780 -16
=&Hr 3,869 -6 1,861 -3 2,008 -3 1,641 —1
[ FH HT 1,473 -2 752 -2 721 0 636 —1
ARy AT R — 2,589 8 1,218 4 1,371 4 948 7
ESEIE R 1,992 -5 970 -6 1,022 1 794 -5
EREFRTFE 53 657 1 327 0 330 1 260 0
2= K BT 5598/ -10 2,663 -5 2,935 -5 2,092 -3
ARG F0HET 204 2 198 2 6 0 199 2
EE 300 1 0 8 0 X 0 1 0
EXREI—TH 364 2 196 1 168 1 184 1




EXLRETZTH 267 -2 107 0 160 -2 137 —1
ELRET=TH 0 0 0 0 0 0 0 0
ELRETMETH 0 0 0 0 0 0 0 0
EXLRETETH 218 4 107 2 111 2 86 1
LtES 0 0 0 0 0 0 0 0
TEET—TH 304 0 144 -1 160 1 142 1
TERZ=TH 587 -3 256 -3 331 0 294 —1
TER=TH 239 -2 111 —1 128 —1 102 -3
BER—TH 433 -3 207 —1 226 -2 218 -1
WERI—TH 569 3 253 —1 316 4 269 1
HERI=TH 253 10 108 10 145 0 145 11
fE{EFET—TH 323 —1 161 —1 162 0 139 —1
BT = TH 408 -2 201 0 207 -2 221 1
FLET—TH 142 2 63 -1 79 3 70 0
L EWLET=TH 303 -1 151 —1 152 0 164 0
FAARET—TH 253 9 119 4 134 5 149 3
AR _—TH 448 -1 210 —1 238 0 234 -1
=R—TH 126 -1 62 —1 64 0 58 0
ERT_TH 251 1 105 1 146 0 123 0
[ H Hih 177 0 86 0 91 0 135 0
R —TH 179 2 81 2 98 0 88 0
WEERI—TH 315 -1 162 0 153 —1 139 -1
FRFEI—TH 554 2 252 2 302 0 247 1
FRFEI—TH 463 -4 218 —1 245 -3 189 -1
hRFRI=TH 679 -3 323 -4 356 1 302 0
FRFETE T B 363 -4 172 1 191 -5 187 -1
FFETRTH 606 2 277 1 329 1 227 -2
FERT—TH 198 -1 107 —1 91 0 98 —1
$ERT—TH 297 —4 167 -2 130 -2 172 -3
AEERT—TH 376 3 186 2 190 1 202 p)
AEERT=TH 298 7 141 3 157 4 136 2
IEEET—TH 131 -1 70 —1 61 0 71 -1
{EERET—TH 529 3 250 2 279 1 249 3
IEERT=TH 489 2 249 1 240 1 242 0
IERITUTH 198 -3 96 0 102 -3 104 —1
IEERTATH 590 0 268 0 322 0 304 0
XiEET—TH 294 -6 144 -3 150 -3 120 -2
XER=-TH 145 1 70 0 75 1 69 1
RFEH—TH 103 0 44 0 59 0 59 0
XFEH=TH 4 0 0 0 4 0 4 0
KFEH=TH 143 -3 81 —1 62 -2 59 -2
TRETE—TH 662 -2 324 -2 338 0 252 -1
THREE=-TH 356 1 160 0 196 1 137 0
THEETE=TH 616 5 301 1 315 4 229 2
TZRETAEMNTH 574 -7 260 -5 314 -2 243 -2
THEETEATH 707 -5 336 -1 371 —4 319 —4
T EFETARNTH 529 -3 267 -1 262 -2 251 —1
THETEETH 630 -1 330 1 300 -2 350 -2
T ZFETA/INTH 614 -3 276 -1 338 -2 276 -2
TZEBIE—TH 1,371 1 640 4 731 -3 625 1
TEETHE=-TH 365 3 189 3 176 0 167 2
TZEBIE=TH 652 -1 318 2 334 -3 275 —1
TZEBETEIMTH 956 -2 424 -2 532 0 438 2
TEBIEATH 875 0 464 -2 411 2 467 1
TZEBETERANTH 553 5 272 3 281 2 274 0
TZEBEETH 1,555 -3 740 -4 815 1 758 3
TZEBETE/N\TH 1,128 -6 523 -3 605 -3 613 -3
TEZEBEATH 333 —1 180 0 153 —1 176 -2
TEAETd—TH 102 0 58 0 44 0 88 0




T2k —TH 101 0 64 0 37 0 81 0
I\ [ 81,431 -6| 39,427 -10| 42,004 4 35,633 -4
AER%EE 78 0 35 0 43 0 54 0
ABHTH 52 -2 26 0 26 -2 30 -2
ASHETR4E 5 0 2 0 3 0 5 0
AERT /MR 85 0 40 0 45 0 39 0
AERT KA 2 0 1 0 1 0 2 0
AEHRT{2H 35 0 18 0 17 0 17 0
AETRE 2 0 2 0 0 0 2 0
AERTAE/E 5 0 2 0 3 0 4 0
48 9 0 3 0 6 0 7 0
AEMXEET 273 -2 129 0 144 -2 160 -2
LERSIA 24 0 14 0 10 0 14 0
LERINHE 29 0 10 0 19 0 22 0
L BETE Dl 22 0 10 0 12 0 14 0
[LERTEHER 12 0 5 0 7 0 11 0
LERER 43 0 19 0 24 0 30 0
LERHH 10 0 4 0 6 0 11 0
[LEREA 17 -1 10 0 7 —1 10 0
LERI/NFEE 34 -1 18 —1 16 0 17 -1
FEH 16 0 10 0 6 0 15 0
[LEXEE 207 -2 100 -1 107 -1 144 -1
BIREREET 480 -4 229 -1 251 -3 304 -3
BT EE 1,194 —1 574 -1 620 0 477 0
BRETRET 677 -9 297 —4 380 -5 232 -5
BT EE 1,118 0 554 1 564 —1 412 0
$EIRET I EH 1,095 -3 523 0 572 -3 401 -2
A CIES D 1,314 -2 636 0 678 -2 388 1
e 3 1,141 -3 537 -2 604 —1 448 -2
BT = AE 3,750 13 1,817 6 1,933 7 1,469 6
ARt X L5 10,289 -5 4938 0f 5351 -5 3827 -2
BRI LIET E RT3 1,800 4 844 0 956 4 653 1
BRILEBT AT 2,502 -5 1,197 —4 1,305 —1 970 -3
SRILBTER /M 1,853 -5 928 —4 925 —1 745 -2
SRILEBTFEIR T 1,647 2 807 1 840 1 622 1
SRILBT E R 1,277 -6 613 —4 664 -2 491 -2
AR LLET )1 R 2,274 1 1,096 0 1,178 1 875 2
LAEESTE 4897 -33 2,389 -19 2,508 -14 2013 -14
BRIl X EEET 16,250 -42 7,874 -30 8,376 -12 6,369 -17
=1 i 108,450 -57| 52,468 -41| 55,982 -16 46,133 -26




